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g3z a—+ No. g K4 BB was | Bis
1 2 3 HILERSR B e FEX 261.5 1555
2 2 4 - AvAEShvA I’ ORH FEX 259.0 155.0
3 2 12 SR ESES FicC =1 HER 2585 | 154.0
4 2 9 Z AR EBE—H =K 257.5 154.5
5 2 11 BREEEE il BER FIEX 257.5 153.0
6 2 1 RREHRIETS BE % g 2555 | 1515
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NEA3z == No. g K4 BB mam | iR
1 3 12 HILBE =B A =5 FER 260.5 156.0
2 3 11 HILEESR BARETY e 260.0 | 156.0
3 3 9 i vilEshva EH LbY FER 256.5 1535
4 3 10 HRPE W bhak 3k 255.5 1525
5 3 3 ivaEShvi BRI EHF 3% 255.5 | 1525
6 3 2 - AvAEhva aH# =1t FER 255.5 1525
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SR ESES IS BEZER R
1 2 4 263.0 1555
SR ESES 25 REME X
At M =48 i
2 2 8 259.0 155.0
At 1=z vl i
At EH R -
3 2 5 258.5 1525
At AR WE X
#ILE 3L ZH ER X
4 2 11 258.0 155.0
# 3L E 3L AL BRE X
At WA &R -
5 2 9 258.0 153.0
At B EX X
SRR ESE S Ll Zt 3%
6 2 1 252.0 150.0
SRR ESE S BE KA 3%
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EEEEESES TR EH =K
1 3 1 260.5 156.5
EEEEESES SH FME e
ivaEshvi WK BE 3k
2 3 6 260.0 157.5
ivaEshvi B 0% 3k
#ILEIL SR B e
3 3 12 259.5 156.0
#ILE L FE OHD e
HILEESR AN TFHEE 1k
4 3 7 259.5 155.0
HILEESR Hy ER 1k
SR ESES e = g
5 3 2 258.0 155.0
SR ESES B ED 2%
SR ESES mE #T e
6 3 11 255.0 152.0
SR ESES ‘B B 2%
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NEA3z a—+ No. g K4 BB mam | BiTs
1 2 3 BEHEEZX K 260.0 155.0
2 2 2 vbld -2 259.5 154.0
3 2 4 HR#EMmANESS -2 250.5 149.5
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NEA3z a—+ No. g K4 BB mam | BiTR
1 3 3 BEHEEZX =K 262.0 157.5
2 3 2 E(vAESkva FER 258.5 156.0
3 3 1 HAE—Z 3%k 245.0 148.0




